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Exercise 1 (15 Points)
Write an algorithm that allows:

1. Declare a structure named 'Postal Account’ to represent the citizen's postal account with the following data: (1 Points)
e Account owner's first and last name (30 characters maximum)
e Account number
e Amount
e Beneficiary's first and last name (30 characters maximum).
Enter information for 100 citizens. (2 Points)
Display the sum of amounts for all citizens. (2 Points)
Allow the user (postal employee) to enter the account number and then delete this account (2 Points).
For Deposit: (2 Points)
v Allow the user (postal employee) to enter the account number and amount.
v Deposit this specified amount into the current account.
6. For Withdrawal: (3 Points)

v Allow the user (postal employee) to enter the account number and amount.

v' Withdraw this specified amount from the current account. Note: It is necessary to verify the presence of
sufficient funds and prevent withdrawals that may exceed the threshold of 50,000 DZD. Display appropriate
messages for successful or unsuccessful withdrawals.

7. Sort accounts in descending order by amount and view the sorted list (3 Points).
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Exercise 2 (5 Points)

We opt for the representation of polynomials utilizing a one-dimensional array. In this model, a polynomial is
denoted by an integer 'n,' signifying the degree of the polynomial, accompanied by an array capturing the coefficients
corresponding to each degree. This graphical representation is illustrated in the figure:

For example, the polynomial 3x> — x* + 2.5x3 + 2x — 8 is represented by:
N=5
Degree 0 1 2 3 4 5
|-8]2]0]25 -1 ]3]

T coefficient

Write a program in C Language that allows:

1. Declare the necessary (Arrays and variables ....) and Reading two polynomials P(x) ans Q(x). (2 Points)

2. Calculate the sum of two polynomials represented in this model. This algorithm should efficiently handle the
addition of coefficients for each corresponding degree, providing the result as a new polynomial. (3 Points) For
example, Let's consider two polynomials P(x) and Q(x):

P(x) =3x3+3x'+8
Q(x) =5x?>—-2x1'-5

The result is: S(x) = (3 + 0)x® + (0 + 5)x2 + (3 + (—=2))x* + (8 + (=5))

So, S(x) =3x3+5x2+x1+3

"The best time to plant a tree was 20 years ago. The second-best time is now”, good Luck.

Dr. A.Aloui
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